10/25(&)

10/26(3H

10/28(=)

10/29(2)

O/ SO0E IR / XEZRY WO/ SOE IR / =8 WO/ SO0E
HH =&l &= =5F2TH 0== EH XXM FRRS=
1] —gdeSpNFd =250l ZaHOIRXIZ! S0k=TA SE=1
NS IPU=e2 NESSPd P OEEM A2
HIMLIOFH S 2 S 18838 [IVEF TH&E =01 HHEOIHAH
AT NFEKXIOHHE S SLSEH OFXH HIZHE OMRSEE
=< Al HAX J01EE F240| S XHEE 2| HEZE
sS4 H=REZTE Q=3xS INE=S g=Zxg OI2EEXIRSE
CEDER IHHEL=FE 2Z0I1Z220l =M E SHMLHES
oHEHHE Obl=EL2&4HE 09 ERE =FLUEFH 24
MLESN || e=IFE HE1F2E St
21X EI1AX EIAX 21X 21X
LX= 2 UX==+ LX==+ LXl=+ UX=+
* 2FAIZE- &2 6,000& (11:30~14:00) / Break time(14:00~15:00)

H2H=

AICIS H=

== A O
L — = T

HH(15:00~18:00)(17:30 =202

A THE 22 A0 25104 RS LIL




